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Check the guestion paper for fairness of printing. If there is
any lack of fairness, infarm the hall superizor immediately.

CUaty biue or black ink mast be used to write and underline.
Pencil can be used to draw the diagrams.

Lyl — |} PART =1

LA LT BT A Y A SV o 6 T 3 allsm_waflssayed,
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Mote: (i} Answer all the questions.
{ii) Cheose the most suitable answer from the given four alternatives and write the option

coda with the comesponding answer.

1. “pafew Quftnd Slurmefiudlen spees” sar sronpssiuiEua,

) S roefundl ) M. & ey

(®]) rréenisdlAedy R A Y

Whao is regarded ag the “Father of Modern Maera Economics™
) Adam Smith ki J.M. Keynes

¢} Ranger Friach d] Karl BMarx

x| = 24
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FpAuTel 54 penB aeug

q) LT 1 el wirid 31 ) omiE 1 pEe sTCren 30
@) wrie 1 gpmar w16 ) mmermfl 1 ppme i 3
The Financial year in India i3

a) April 13 to Mareh 31 b} March 17 Lo April 30

¢] March 1# to March 160 A fan 19 o Deo 31

Gpdinr suihe Tl el S(EEmS pmeflel ypflipairu (Rl arau

) g LR LTy 2} M. Eeirsiv

= FaRTTE, T 7} aEeR iy aleT s
The concept, Natipnal lncome was first introduced by

a) Alfred Marshall b} J M. Keymes

o} Richardi d] Simon Kuzncts

1 ERHDNLPE Geusnailen aruznfsy, e_angpliirafyilsr (=) g ] o o_drL ]
2] L ) S

Y v F} BpTLemm

In disguised unempleyment, the margnal productivity of labouar 1%

a) O Bl cl 2 d) Positive

MPCmpaps, MPSgae se g GTTED HlemLKILIE!

=) 1 2 (=) 0.1 w11
The sum of MPC atyd MPS 18
aj 1 b 2 o). 1 dil.1

MEPC = (0.5 srarflit, Gier sl il 1ol

2] 2 =] ¥ (&) 0.2 ) 20
If the MPC is 0.5, the multipler is
a] 2 bt cl 0.2 d] 20

(Fli gl Aeid siluilen fenalme WL yamehgieren Fh v

24} g givedil ) Taber T SEVETT

)] nposmu CYRANTAE L0 T
The headguarters of Fescive Bank of india is lecated at
a) Delih by Chennai

£} Mumba d] Bangalorec
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11.

12,

@l bglLraia g Larssd e i (P L rrdd s s BES UL E G-

2} L. Asudhromrit ) T. o_pwehrar

@ 0. e_gugrori ) b gl g
The new currency symba! (3] in India was designed by

aj L. Sivakurmat bt T. Udaya Chanrdran
c| . Udayakumar d] Ameartya Kumar Sen

“Ero@ur sldgn (RR) erdmugr blurmeér

o) swewha wiklssr, feiow aicidldg safisgl SUgSRTaT oy bl s .
) emiow ke, suenfle aubidls pmd b yalis e S gErds TOT g alldlEiD.
() o DlreoT ey aflsig .

T} B 6T suairdd] ailLlsi.

“Repo rate (RR)™ rneatis

a) Rate at which the comtaercial banks are willing to lend to KB

b} Rate at which the REI is willing to lend to enmmervial banks

c] Exchanpe rate of foreign bank
djGrewth rate of the econemy

Shprod — B ndes gl aid AEr Bsiud L e

=) gream, 1982 ) aycrres, 1962
(®]) S, 1982 ) it fF 1582
Export - Import bank was established in

a) June 19832 bl April 1932
¢] May 1982 dj March 1982

LemrLr ) el Bli eprunn Tl FEHE

2] LISETEEEnS ) Mbdar Greorssen
&) urtuy FhaS ] QpRIEeT SEens
Exchange rates are determined 1o

al Monetary economy bj Stock market
c] Foreign exchange markct d] Capital market

g0 il.gp iy (IBROY Eledimmrmrs sy Ay amipchas Lot HpHE ML

o} et e (Rt gl b =) 8 vm oL

() 2, o &) usrarTm flfsspsD
IBRD ig otherwige called as

a] International Monctary Fund b Watld Bank
cj ASEAN djInternational Finance Corpurations
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13.

14.

pgratrl (B0 o Fallwhget Semeamn SR s el gidrar ALY,

=) eurafin s g.f ) Eluguen & &

1 miwrgir e W) Sagalmr
International motetary lund has its headquarters at
a) Washington DC b} New York

o] ¥ienna ] Geneva

£pEsrmiuaminie ahs w, uww myrder Ll garstls Fdma.

2] SefiBLT s s £} dlprareer o f]

{3]) effeusrer sugmuae? qfl &) EauTar mrfl

Which of the following is not a tax under union list ?
a] Pcreonal Income Tax b} Corpatation Tax
cf agricultural Income Tax d] Excize duty

15, SPpssrgmd sppsaals sfuratabeans GafpolsHasa .

i Lgerrararsus HA&mupalisn saaart & rersre QT

i) BB bmpailen Ll sgsnradr gurss 1, 2010 s spogids UBSE-
240 i ol (jun =

Y i 4 G s

&) Breariin e

F) {Erena T apllasmal

The true statements of the [nllowing.

iiThe 14" Finance commission is headed by C. Rangarajan

i) The recommendations of this comnission will come into effect from April 1, 2015,

isf are

a] 1 omly is correct

b} il only 18 correct
cl hoth is correct
dj none of the above 15 correct

18, dust syfiallhsren ppmedtontos smrewrh wn g T

o) Wi Sar Fub Tl o} [Blubens uar & ey

B ofloudens FUaTUEISSISE #} sl LSsiullans FuliuBsgsd
Which of the [ollowing is the main cause lor deforestationt

a] Timber harvesting industry b Natural alforestation

c] Sad] stabilization diChmate stabilization
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17, ypomgresdrsatsfgba, walsrsmard urgrsTce .

UV - A UV -C

B} g derar L sd w) sr il ana

Which |5 respansible for protecting people fram harmbd| ultra viclat rays?
auiv-A4a bjuUv-C

o} Orene layer dj None of the above

18 Lpssrggnn A dsener, soma gpstrialorglendiod L s eiragest gyig e e, sirensslrs
afmsluyg Permba aflegn. seng IpisEsRssa)b,
i} odmar gl b
£} Lot ElC 1 Lo
i) spawamsom ) Bps £t
iv) afprRoudgnueninor SlC
4] 1 (IE} (11T (v
Sut Lined L) () (i}
) {ib i) fiv} (i
=} (i) (i} {ivy (lii)
Arrange the lellpwing in chronological order
1| Peoples” plan
ii] Bormbay plan
iii} Jawaharlal Nehru Flan
iv]Vishveshwearya Plan
a (i} (i} did) {iv)
b v} (i) () i
ch A fin) o) i)
) ] (i) fiv) (i)

19, PerPasdu. s hllds b, arravidhs seps alenl elmars Taibbsfssas.
S BE npatgen CUd BT G, Emnhs o huggldmn, Uldrant g emnaiTaT S ELT eSS L0
aufiagsSpg”.
STTeRTD; "meembs Frfliry, Eenpnanmer (heel L EESE SRLSATULID TS HEm DS 50
et
2y} Fn Dy to KrTeTptn FRUrE), Srrend, sabofleprae: 1) sdyrer allardswr g,
] Sm WAL, KrFERVEpD FALTATE. EOTT, &TroErt de g e il rar ailars s wea),
(81) e imr, #Fl T dor gy Y ETTED KT TAATLD, 8T TEuEL.

B m N10H, EQITHTEN ) DEEFTTED S rawwen, Foiwnteer g,
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Choose the corzect answer for the gven assertion and reasos,
Assertion {A): The deficiency of capirat, in turn leads to low levels of productinty and
back to low income
Reason {R): The low levet of saving leads to Iow investment and to deficioncy of
capital.

a] Brth A and R are true and R is the correct explanation of A

b] Both A and R are true but R is not the eorrect explanation of A,

¢ 4 i3 true but R is l2lse

di A is Tulze but R is true

20, X whgud Y wrilser & reimipn 37 fans wle tamflon s ), oo sirElgm fsSlmug” ooy

Blgsm.
) GHFLoDL TS ) wrallFoaniurs
3 ppwee F] el

If both variables X and Y inctresse or decrease simultancously, then the coeffeient of
correlation wif] be
al  Positive b] Megative

ol O d] 1

vl — I { SECTION - 1I
rEEgmir 7 aflen s dspmd allen raf s,
ey emadn 30 big s Twors afam_welids Gosn o,

Answer any 7 questions. Queslion no, 30 is compulsory, Tx2=14

21, vemralfmih ~ ok semnt g me.
Definc the term inflation

22, GLF manmourer srarge ) arsresr?
What 13 GDFP deftator?

23 WEEC R Friy et Ter Mever?
What iy investmernt function?

24, Fnsmaliad serprd) sraren?
Wnits a note on stagflation?

23, CRR whaub SLR gy flwrargafianar (B T B St 5.
Dhatinguish between CRR and SLR?
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28,

27.

28.

29,

30.

aivgrr ol 40 &g 50 L rrors e weflss Gamtmii.

Answer any 7 quastions. Question no. 40 is compuisory.

3. Gepfw swmarmulldr L srssmm D oC g osfEs.

srrsro Glegydig Blenan's b Salit sfleng wrg?
What iz meant by Balance of Payment?

AmOL AT E S eTETLSETT ST HEET §rm
Wnitc the meaning of special drawing rights?

CLLNTY TR TR (e 1] T Y T

Differentiate betweaen tax and fee.

sp_(BIDey STSTLISENGT fUshy LIS s,
Define regresaion,

LT Ll STET TGl STERTEST LOMMULD Sy G0 A T S T
What is potiution and write the types of pollution?

ugg -l f PART - N
w3gee T ol TSR hd allm walssapd.

List out the uses of Natonal income,

32, Lemericn Ear, Lmlenl Glgrd aramruc b (owchart) e afird e,
Explain Keynes theory is the lorm of flow chart.

33 Apsrggnd oyl L susmamenil gk bl s

ANEWTEND | psday | Edfloy
0 20
B0 10
120 4
10
40 220

T=3=21
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Complete the tahble, _

35.

38

ar.

A8,

39,

| Income Cangsumption | Savings
| @ 20
60 10 |
120 0
10
L e4d 220

EUTTy er (NABARD) Lenfisdr rremeay?
What arc the functions of NABARD?

(B Fefing] LIIE 617 1] STERTO}T R 6T gur T

What are import quotas?

LIG! SO bR @il susnT s,
Mulilateral Agreement - Comment,

Bt ipa Hmb cen mpps aflsend A Qareirar ppeirgy T rBamerd sy,
Foint out any three differences between direct and indirect taxes,

gl e FwiT F ol Lisndlm s Ll g ufedlgls.
List eut the functions of NIT] AAYOG,

ue spoRirlanerrs £7 oreflagn srrafsdr wramar?

What arc the determuinants of meney supply?

40,

Feafl BUTmarT i rdber DG SRETE S N5

Mention the lmitations of Macro Economics.

41.

sl -1V PART - |V
DSOS DT 55 i allemt _jefld s mped,
Answer all the queslions. T=3=35

8] Bang RaES ST B9 O i PF LT manT s & sy oy alF el (7 owremg aileu .
(.0}

24} Peirsmi oflowr isandm & et sionfisr grBimeyd Clappnlamar £em s,
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42,

43,

dsmwX. | 23 |27 [ 28 20 |30 | 31 |33 |36 |36 g |
\:ﬂg’:umm‘l":|1ﬂ 22 | 23 |24 |25 [26 |28 |20 090 32

a) [Musirate the functioning of an econamy based on its activities,
(OR}
hj Calculate the Karl Person Correlation co-sfficient for the ollowing data.

Demand of | 23 | 27 | 28 | 29 | a0 | 31 | 33[35|36 39
Produc

| X |

Sale of 18 |22 |23 | 24 |25 |26 [28]|29]|20 32
Froduc

| S 1 | 1 |

4] SlurgerrEn 7 gpstr et nsamgd Fion qifideg b GlLIT RET TETTD & T4 b 20T | v
wfi gu gl b gyt

{emjsiraag}
201 Erlsir mytesrig aflfleimearg Aoemauia (ol add

a) Discuss the economic determinants of economic development,
1OR)
bj Critically explain say's law of market

) BpFlw sugnsurir LghE s risdlgr (pdalLAGisudmng al orEE s,
{ sy}
) Gurgs Eadu e foiflagd, shEE dpsit gy A G Fuwrer g rrilmsn
srfERLLTS @l ardh,
a) Explain the importance of Nalion [m;:?]n%?! analysis,

b| Briefly explain the relationship between GOP growth and the quality of
environmenl,

) Pmds) Gudigd ailssgloa aliru flEs.

[y ]
g} sy wEmeTL (e g dspenanficl s Qe UL Alman duig el BT
a| [lustrate the working of muitiplher.
(CR)
th Bring out the componenta of balance of payments accountsa.
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43 o) verdfsaiass S HOLRSAD 2 ipmns oo alarfssagh.
{sydrengm

54 GUrgELl e safluriflgE s Ben, Fu o sdrar FoupurBsenar allafias,
Al Explain in detail the measures to control inflation.

{OK])
b] Distinguish between Public Finance and Private Finance.
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46. iy} B For Axidy sudrdiuflar umigma aflaflss.

[apsinangi)
oy orggim, (1) siris
{il} Lf&eu
at Desarlbe the functlons of RBI,
{OR]
b} Wiile a note on (i) SAARC
(i) BRICS
472y} swemigd s pidlullser usEamy &0 fsmar aiiwfEs.
peaiz)

) B TEEF RFoey s S ERE ST ST ES S LR e T
a} Describa the phases of trade cycls.
(OR}
b} What are the reasons for the recent growih in pubtic expendilura’?

| ok
e R
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